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o £ 1. Which of the following statements about Fit AP+AC networking is true?

A. The AP version can be upgraded through HTTP.
Question2 (15 Points)
B. After a CAPWAP tunnel is established between the AC and Fit AP, keepalive packets are used to detect the status of the CAPWAP tunnel.
Question3 (15 Points)
« C. data tunnel and a control tunnel will be established between the AC and Fit AP.
Questiond (15 Points)

D. The tunnel forwarding mode can reduce the forwarding pressure on the AC.
Question5 (15 Points)

Question6 (15 Points) m
Question7 (15 Points)

Question8 (15 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: C

Question9 (15 Points)
Question10 (15 Points)
Question11 (15 Points)

Question12 (15 Points)
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Question1: (15Ponts) 2, When a ping command is run on a network device to check the network connectivity, which type of packet will be sent by the network device?

(15 Points)
A.ICMP

Question3 (15 Points)
B. IGMP

Questiond (15 Points)
“ C.TCP

Question5 (15 Points)
D.UDP

Question6 (15 Points)
Question7 (15 Points)
Question8 (15 Points)

Question9 (15 Points)

@ Wrong answer My Score: 0 Poinl(s)  Correct answer: A

Question10 (15 Points)
Question11 (15 Points)
Question12 (15 Points)

Question13 (15 Points)
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SUEstiong (16Poiniz) 3. Which of the following statements is true about APs in WLAN networking?

Question3 (15 Points)
A. Fit APs can independently implement functions such as wireless user access, service data encryption, and service data packet forwarding.
Questiond (15 Points)

B. Typically, APs use PoE power to facilitate deployment.
Question5 (15 Points)

N C. Fat APs need to work with an AC and are managed and configured by the AC in a unified manner.
Question6 (15 Points)

D. An AC must be deployed in WLAN networks.
Question7 (15 Points)

Question8 (15 Points) m

Question9 (15 Points)

Question10 (15 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: B

Question11 (15 Points)
Question12 (15 Points)
Question13 (15 Points)

Question14 (15 Points)
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e 4. Which of the following packet types is used by OSPF to maintain neighbor relationships?

(15 Points)
A.LSR

Question5 (15 Points)

B.DD

Question6 (15 Points)
“ C.Lsu

Question7 (15 Points)
D. Hello

Question8 (15 Points)

Questiond (15 Points) u
vious

Question10 (15 Points)

Question11 (15 Points)

@ Wrong answer My Score: 0 Poinl(s)  Correct answer: D

Question12 (15 Points)
Question13 (15 Points)
Question14 (15 Points)

Question15 (15 Points) o
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Questiond (16, Pofnta) 5. The Point-to-Point Protocol (PPP) is a common data link layer protocol for wide area networks (WANs). Which of the following statements about

5 Points) PPP is false?

Question6 (15 Points) A. PPP supports the Password Authentication Protocol (PAP) and Challenge-Handshake Authentication Protocol (CHAP).

Question7 (15 Points) B. PPP uses the Link Control Protocol (LCP) to negotiate link control layer parameters.

Question8 (15 Points)

C. The establishment of a PPP link goes through three phases: link layer iation, network layer iation, and authentication.

' 15 Po
Sysestond {18 Pokiis) D. If PPP uses password authentication mode, negotiation packets are transmitted in plain text, which is insecure.

Question10 (15 Points)

Question11 (15 Points) Previous m

Question12 (15 Points)

Question13 (15 Points) @ Wrong answer My Score: 0 Point(s)  Correct answer: C
Question14 (15 Points)

Question15 (15 Points) -

Question16 (15 Points)

B Wrong 58 ® Unanswered 56
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Gectone 8 6. Which of the following statements about edge ports is false?

A. In most cases, edge ports are directly connected to user terminals.
Question7 (15 Points)
B. If an edge port receives a confi tion BPDU, it a STP port.

Question8 (15 Points)

“« C. In normal situations, an edge port cannot receive configuration BPDUs.
Question9 (15 Points)

D. It takes 15 seconds for an edge port to change from the Disabled state to the Forwarding state.
Question10 (15 Points)

Question11 (15 Points) u
Previous

Question12 (15 Points)

Question13 (15 Points)

@ Wrong answer My Score: 0 Poinl(s)  Correct answer: D

Question14 (15 Points)
Question15 (15 Points) .
Question16 (15 Points)

Question17 (15 Points)
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Quiestiont (15 Polnki) 7. The Versatile Routing Platform (VRP) uses the file system to manage files and directories on a device. Which of the following commands can be

oints) used to check the current directory of a device?

Question8 (15 Points) A. dir
Question9 (15 Points) B. pwd

«
Question10 (15 Points) C. display dir
Question11 (15 Points) D.ls

Question12 (15 Points)

Question13 (15 Points) Previous m

Question14 (15 Points)

Question15 (15 Points) El @ Wrong answer My Score: 0 Point(s)  Correct answer: B
Question16 (15 Points)

Question17 (15 Points)

Question18 (15 Points)
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Question? (15 Points) 8. How many bytes does an MPLS label contain?

Question8

A. 3 bytes
Question9 (15 Points)

B. 1 byte
Question10 (15 Points)

“« C. 4 bytes

Question11 (15 Points)

D. 2 bytes

Question12 (15 Points)

Question13 (15 Points) u

Question14 (15 Points)

Question15 (15 Points) -
@ Wrong answer My Score: 0 Point(s) Correct answer: C
Question16 (15 Points)
Question17 (15 Points)
Question18 (15 Points)

Question19 (15 Points)
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Question8 (15 Points) T . - . =
9. OSPF is configured on RTA, RTB, and RTC. GigabitEthernet 0/0/0 interfaces of these routers belong to area 0 and the network types of these
Guestiond interfaces are broadcast. The router ID of RTAis 1.1.1.1, and the DR priority of GigabitEthernet 0/0/0 on RTA is set to 0. The router ID of RTB is

Question10 (15 Points)

Question11 (15 Points)

2.2.2.2, and the DR priority of GigabitEthernet 0/0/0 on RTB is set to 255. The router ID of RTC is 3.3.3.3, and the DR priority of GigabitEthernet
0/0/0 on RTC is the default value.
Which of the following statements is true about the DR and BDR on the network?

Question12 (15 Points) ) A.RTC functions as the DR, and RTB as the BDR.
Question13 (15 Points) B. RTB functions as the DR, and RTC as the BDR.
Question14 (15 Points) C. RTA functions as the DR, and RTB as the BDR.
QuestiontS. (15Roinks) @ D. RTB functions as the DR, and RTA as the BDR.
Question16 (15 Points)
Question17 (15 Points) Previous m
Question18 (15 Points)
Question19 (15 Points) °Wrong answer My Score: 0 Point(s) Correct answer: B
Question20 (15 Points)
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Question9 (15 Points)
Question10 (15 Points
Question11 (15 Points)
Question12 (15 Points)
Question13 (15 Points)
Question14 (15 Points)
Question15 (15 Points) L
Question16 (15 Points)
Question17 (15 Points)
Question18 (15 Points)
Question19 (15 Points)
Question20 (15 Points)
Question21 (15 Points)
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10. The process for an AP to go online is as follows: The AP sends a Join Request packet to an AC, which then authenticates the AP after receiving
the packet. The AP gets managed after being successfully authenticated. Which of the following AP authentication methods is not supported by an
AC?

A. Password authentication
B. MAC address authentication
C. Serial number authentication

D. Non-authentication

@ Wrong answer My Score: 0 Point(s)  Correct answer: A
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11. Mastering the basic operations of the file system is crucial for network engineers to efficiently manage the configuration files and VRP system files
of devices. Which of the following statements is true about these files?

A. System software is mandatory for device startup and running. The common file name extension is .cfg.

B. ion file stores cor ion commands. The common file name extension is .cc.

C. PAF file effectively controls product features and resources. The common file name extension is .bin.

D. patch file is a type of software compatible with the system software. The common file name extension is .zip.

© Wrong answer My Score: 0 Point(s) Correct answer: C
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12, Various profiles are designed to facilitate the configuration and maintenance of WLAN functions and features. Which of the following statements
about these profiles is false?

A. Radio profiles are used to optimize radio parameters and control the in-service channel switching function.
B. VAP profiles provide differentiated WLAN services for users.
C. Only security profiles and SSID profiles can be bound to VAP profiles.

D. Regulatory domain profiles provide configurations of the country code, calibration channel set, and calibration bandwidth for APs.

@ Wrong answer My Score: 0 Point(s)  Correct answer: C
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13. What is the valid VLAN ID range?

A. 1104094
B. 0to0 4094
C. 0to 4095

D. 110 4095

@ Wrong answer My Score: 0 Point(s)  Correct answer: A
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14. Which of the following statements about STP and RSTP is false?
A. There are three RSTP port states: Forwarding, Leamning, and Blocking.
B. RSTP is backward compatible with STP.
C. There are five STP port states: Forwarding, Learning, Listening, Blocking, and Disabled.

D. RSTP converges faster than STP.

@ Wrong answer My Score: 0 Point(s) Correct answer: A
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Questiont4 (15 Points) 15, Refer to the following ACL configuration on a device. Which of the following statements is true?
Question15 (15 Points '] #
time-range satime 08:00 to 17:30 working-day
Question16 (15 Points) #

acl number 3002

Question17 (15 Points) A = v < ”
rule 5 permit ip source 10.164.2.0 0.0.0.255 destination 10.164.9.9 0.0.0.255 time-range satime

«
Question18 (15 Points)
A. All packets with the source IP addresses on the network segment 10.164.2.0/24 will be permitted by the device.
Question19 (15 Points)
B. This ACL is a user ACL according to the ACL classification rules.
Question20 (15 Points)
®) C. The ACL rule takes effect only on working days. Vv
Question21 (15 Points)
D. This ACL is a basic ACL according to the ACL classification rules.
Question22 (15 Points)
Question23 (15 Points)
Question24 (15 Points)
Question25 (15 Points)
@ Congratulations, you gotit! My Score: 15 Poinl(s Correct answer: C
Question26 (15 Points)
® Wrong 58 B Unanswered 56
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Question5 (15Poinis) = 16, Which of the following states indicates that the neighbor relationship is stable between OSPF-enabled DR-other routers on a broadcast network?
Ques! (15 Points
A. Two-way
Question17 (15 Points)
B. Loading
Question18 (15 Points)
< C. Down
Question19 (15 Points)
D. Full

Question20 (15 Points)
Question21 (15 Points) = u
Previous
Question22 (15 Points)
Question23 (15 Points)
@ Wrong answer My Score: 0 Poinl(s)  Correct answer: A
Question24 (15 Points)
Question25 (15 Points)
Question26 (15 Points)

Question27 (15 Points)

| Wrong 58 B Unanswered 56
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17. In the same Ethernet network segment, five routers are running OSPF for interconnection. When the protocol status of all routers is stable, which
of the following statements is true?

A. There are routers of which all neighbor relationships are in 2-way state on the network.
B. The neighbor status of a router on the network can only be Full or 2-way.
C. The neighbor status of all routers is Full.

D. The neighbor relationship between a DR router and another router can be Full or 2-way.

@ Wrong answer My Score: 0 Point(s) Correct answer: B
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18. What is the network ID for the IP address 192.168.1.1/29?

A. 192.168.1.7
B. 192.168.1.255
C.192.168.1.4

D. 192.168.1.0

s u

@ Wrong answer My Score: 0 Poinl(s)  Correct answer: D
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Question18 (15 Points) 19, Python can be used to implement automatic network deployment, operation, and maintenance, reducing the dependence on human resources.
R This resolves the problems with traditional network O&M. Which of the following statements about Python is false?
Question20 (15 Points) A. When a method is defined in a class, the method must carry a self keyword.
Question21 (15 Points) B. class is a collection of objects with the same attributes and methods.
Question22 (15 Points) C. module is a saved Python file and usually does not have a main function.
Question23 (15 Points) D. Two forward slashes (/) can be used to mark a single-line comment.
Question24 (15 Points)
Question25 (15 Points) Fisvos m
Question26 (15 Points)
Question27 (15 Points) © Wrong answer My Score: 0 Point(s) Correct answer: D
Question28 (15 Points)
Question29 (15 Points)
Question30 (15 Points)
W Wrong 58 ® Unanswered 56
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Question19 (15 Points) 20, Which of the following statements about BPDUs in STP is false?
Question20 (15 Points) o i
A. BPDUs are classified into configuration BPDUs and TCN BPDUs.
Question21 (15 Points)
B. configuration BPDU contains parameters such as the bridge ID, path cost, and port ID.
Question22 (15 Points)
C. TCN BPDUs are triggered only when the network topology changes.
Question23 (15 Points)
D. When the network topology stable, all swil p send configuration BPDUs.
Question24 (15 Points)
Question25 (15 Points) e m
Question26 (15 Points)
Question27 (15 Points
& ( ) °Wrong answer My Score: 0 Point(s) Correct answer: D
Question28 (15 Points)
Question29 (15 Points)
Question30 (15 Points)

Muiti-answer Question 20

® Wrong 58

® Unanswered 56
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Question20 (15 Points) 21, Refer to the following configuration on a Huawei router.
= <huawei>system-view
: [huawei]user-interface maximum-vty 7
Question22 (15 Points) Which of the following statements is true?
Question23. (15 Points) A. If a user forgets the system login password, the user will be locked out after seven consecutive failed login attempts.
Question24 (15 Points ’ A
( ) B. The router allows a maximum of seven users to log in concurrently through the asynchronous serial port.
Question25 (15 Points) . .
C. The router allows a maximum of seven users to log in concurrently through the console port.
Question26 (15 Points)
D. The router allows a maximum of seven users to log in concurrently through Telnet.
Question27 (15 Points)
Question28 (15 Points) Previous m
Question29 (15 Points)
Question30 (15 Points)

Multi-answer Question 20

Question31
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(20 Points)

® Unanswered 56
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(15 Points)
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(15 Points)

(15 Points)

(15 Points)

(15 Points)

(15 Points)

(15 Points)

(15 Points)

(15 Points)

Multi-answer Question 20

Question31

Question32

® Wrong 58

(20 Points)

(20 Points)

® Unanswered 56

ﬂ R Type here to search

x | & Nairaland Forum X | &2 CiscoSkilsForAll X | G vcconnect-Google © X | ## Course Details-Huaw: X | #8 Course Details x

@ Wrong answer My Score: 0 Point(s)  Correct answer: D

t-Exar X 4 4 - o X

507212&examResultid=164727

47138816&sxz-lang=en_US © % » 0 &

NoPass  Score: 30 Points  Answer Time: 00:02:53 Exit

22, The Domain Name System (DNS) protocol is used to resolve domain names to IP addresses. Which of the following statements about DNS is
false?

A. DNS server maintains the database that stores the mappings between domain names and IP addresses and responds to the requests from the resolver.
B. DNS supports recursive query.
C. DNS supports traversal query.

D. domain name can be used to identify a host.

@ Wrong answer My Score: 0 Point(s)  Correct answer: C
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Question22 (15 Points) 23. Arouter has the following four specific routes:
B ip route-static 10.1.20.0 24 12.1.1.2
(15 Points
ip route-static 10.1.21.0 24 12.1.1.2
Question24 (15 Points) ip route-static 10.1.22.0 24 12.11.2
ip route-static 10.1.23.0 24 12.1.1.2
tion25 (15 Points . . 3 :
Gueston2s (15 Foleis) To summarize these specific routes, which of the following commands should be run?
Question26 (15 Points)
A. ip route-static 10.1.20.0 23 12.1.1.2
Question27 (15 Points)
B. ip route-static 10.1.16.0 21 12.1.1.2
Question28 (15 Points)
C. ip route-static 10.1.0.0 16 12.1.1.2
Question29 (15 Points)
D. ip route-static 10.1.20.0 22 12.1.1.2
Question30 (15 Points)

Muiti-answer Question 20
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Question32

Question33
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24, An AC manages and controls APs in a centralized manner through CAPWAP tunnels. An AP sends a Discovery Request packet to find an

available AC. Which of the following methods cannot be used by an AP to discover an AC?
A.DHCP
B. Multicast
C. Static configuration (manually specifying an AC)

D.DNS

g m

@ Wrong answer My Score: 0 Point(s)  Correct answer: B
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Question24 (15 Points) 25, In which of the following modes are DHCP Discover messages sent?
5 (15 Points) :
A. Multicast
Question26 (15 Points)
B. Anycast
Question27 (15 Points)
B C. Unicast

Question28 (15 Points)
D. Broadcast

Question29 (15 Points)

Question30 (15 Points) —

Multi-answer Question 20

Question31 (20 Points) @ Wrong answer My Score: 0 Point(s)  Correct answer: D
Question32 (20 Points)

Question33 (20 Points)

Question34 (20 Points) -

Question35 (20 Points)
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Question26 (15 Points) 27, Ifthe PVID of a trunk port on a switch is 10 and the port trunk allow-pass vian 7 9 command is configured on the port, which of the following

statements is true?

Question28 (15 Points) A. Data frames of VLANs 7, 8, 9, and 10 can be transmitted on a trunk link.
Question29 (15 Points) B. Data frames of VLANSs 1, 7, and 9 can be transmitted on a trunk link.

«
Question30 (15 Points) C. Data frames of VLANSs 1, 7, 8, and 9 can be transmitted on a trunk link.
Multi-answer Question 20 D. Data frames of VLANs 7, 8, and 9 can be transmitted on a trunk link.

Question31 (20 Points)
Question32 (20 Polnts) ) m

Question33 (20 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: B

Question34 (20 Points) El
Question35 (20 Points)
Question36 (20 Points)

Question37 (20 Points)

® Wrong 58 B Unanswered 56
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Question27 (15 Points) 28. Which of the following lists the correct protocol layers of the TCP/IP reference model from bottom to top?
(15 Points)

Question29

Question30

(15 Points)

(15 Points)

Multi-answer Question 20

Question31

Question32

Question33

Question34

Question35

Question36

Question37

Question38

® Wrong 58

(20 Points)

(20 Points)

(20 Points)

(20 Points) -

(20 Points)

(20 Points)

(20 Points)

(20 Points)

® Unanswered 56
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A. Application layer, presentation layer, session layer, transport layer, network layer, data link layer, and physical layer

B. Application layer, transport layer, network layer, data link layer, and physical layer

C. Physical layer, data link layer, network layer, transport layer, and application layer

D. Physical layer, data link layer, network layer, transport layer, session layer, pi ion layer, and ication layer

@ Wrong answer My Score: 0 Point(s)  Correct answer: C
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Question28 (15 Points) 29, An IPv6 address is 128 bits long. Typically, an IPv6 address is represented by eight groups of 16-bit hexadecimal values separated by colons (:).

Question30

(15 Points)

Multi-answer Question 20

Question31

Question32

Question33

Question34

Question35

Question36

Question37

Question38

Question39

® Wrong 58

(20 Points)

(20 Points)

(20 Points)

(20 Points) ]

(20 Points)

(20 Points)

(20 Points)

(20 Points)

(20 Points)

® Unanswered 56
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Which of the following statements about IPv6 addresses is false?
A. global unicast address (GUA) is globally unique.
B. There may be ULA conflicts in a global scope.
C. Each IPv6 interface must have a unique local address (ULA).

D. The IPv6 address with the prefix FE80::/10 is a link-local address (LLA).

e m

@ Wrong answer My Score: 0 Point(s)  Correct answer: C
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Question29 (15 Points) 30. OSPF authentication enables a device to encrypt OSPF packets by adding an authentication field to the packets, ensuring network security.

Which of the following statements about OSPF authentication is false?

(15 Points)

A. OSPF authentication is classified into area authentication and interface authentication.
Muilti-answer Question 20

Question3! (20 Points) B. Area authentication applies to the packets received on all the interfaces in a specific area.
Question32 (20 Points) C. The authentication modes of two OSPF neighbors must be the same, that is, both of them either use interface authentication or use area authentication.
Question33 (20 Points) D. Interface authentication is configured in the interface view and applies to all the packets received on the interface.

Question34 (20 Points) -

evious
Question35 (20 Points) m

Question36 (20 Points)

© Wrong answer My Score: 0 Point(s) Correct answer: C

Question37 (20 Points)
Question38 (20 Points)
Question39 (20 Points)

Question40 (20 Points)
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Question30 (15 Points) 31. In contrast with SNMPv1, which of the following operations are newly added to SNMPv2c?
Muiti-answer Question 20 A. SetRequest

tion31

Qu

B. InformRequest

Question32 (20 Points) % C. GetNextRequest

Question33 (20 Points) D. GetBulkRequest

Question34 (20 Points) ]

Question35 (20 Points) Previous u

Question36 (20 Points)

Question37 (20 Points) @ Wrong answer My Score: 0 Point(s)  Correct answer: BD
Question38 (20 Points)

Question33 (20 Points)

Question40 (20 Points)

Question41 (20 Points)
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Multi-answer Question 20
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(20 Points) [
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32, For the IPv6 address 2000:002A:0000:0000:0000:000A:020C:023D, which of the following comply with the IPv6 address abbreviation rules?

A. 2000:2A:0:0:0:A:20C:23D

B. 2000:

:2C:23D

C. 2000:2A::A:20C:23D

D. 2000:2A:0:0:0:A:2C:23D

@ Wrong answer My Score: 0 Point(s)  Correct answer: AC
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33, ACLs are used to match and distinguish packets. Which of the following information can be used to define ACL rules?

A. Source and destination MAC addresses
B. VLAN ID
C. Source and destination IP addresses of IPv4 packets

D. Protocol type of Ethernet frames

s u

@ Wrong answer My Score: 0 Point(s)  Correct answer: ABCD
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Question32

Question33

Question35

Question36
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34, Refer to the following configuration on the VTY user interface 0. When a user logs in to the system through VTY 0, which of the following
statements are true?
<HUAWEI> system-view
[~HUAWEI] user-interface vty 0
[~HUAWEI-ui-vtyQ] user privilege level 2

A. The user can use some display commands.
B. The user can use the debugging command to diagnose service faults.

C. The user can use service configuration commands, including routing configuration commands. v

D. The user can use the ping and tracert commands.

s o m

@ Wrong answer My Score: 0 Point(s)  Correct answer: ACD
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35, The route preference is an indicator used by a router to compare routes of different routing protocols. Which of the following statements are true
about the default preference of common routes?

A. The default preference of a direct route is 0.
B. The default preference of an OSPF internal route is 10.
C. The default preference of an OSPF external route is 255.

D. The default preference of a static route is 60.

@ Wrong answer My Score: 0 Poini(s)  Correct answer: ABD
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QUESTONS3 {2V Foinis)

Question34 (20 Points)  ® 36. Arouter can advertise default routes in an OSPF area. Which of the following statements about OSPF default route advertisement are false?

Question35 (20 Points) A. The preference of the advertised default route in the routing table is 10.

B. After learning the default route advertised by the router, other routers in the same OSPF area as the router must add this route to their routing tables.

Question37 (20 Points)

N C. If there is no default route on the local device, the default-route-advertise always command can be run to advertise a default route in an OSPF area.

Question3s; (20 Folnts) D. The default-route-advertise command can be used to advertise a default route in an OSPF area only when the default route exists on the local device.

Question39 (20 Points)

Question40 (20 Points) Pr

Question41 (20 Points)
Question42 (20 Points) @ Wrong answer My Score: 0 Point(s)  Correct answer: AB
Question43 (20 Points)
Questiond4 (20 Points)
Questiond5 (20 Points)

Question46 (20 Points)
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QUEsTIoNSa (2U roints) -

Question35 (20 Points) 37. Which of the following are IPv6 address types?
Question36 (20 Points) A. Unicast address
(20 Points

B. Broadcast address
Question38 (20 Points) = C. Multicast address

Question39 (20 Points) D. Anycast address

Question40 (20 Points)

Question41 (20 Points) Previous m

Question42 (20 Points)

Question43 (20 Points) @ Wrong answer My Score: 0 Point(s) Correct answer: ACD
Question44 (20 Points)

Question45 (20 Points)

Question46 (20 Points)

Question47 (20 Points)

® Wrong 58 ® Unanswered 56

ﬂ R Type here to search




@ OGITECH: Ogun Szt X | {&} Nairaland Forum X | & CiscoSkillsForAll X | G vcconnect-Google © X | #8 Course Details-Huaw: X | #8 Course Details X % HuaweiTalent-Exar X < S22 = a X

€ C @ talentshixizhihuawei.com/iexam/1365189427395223554/examContent?examid= 05024355072128&examRe 1647271535247 @ % » 0 &
HCIA-Datacom V1.0 Mock Exam NoPass  Score: 30 Points  Answer Time: 00:02:53 Exit
Al Just look at tf
QUESTIoNSS (2L roints)
Question36 (20 Points) 38, The Domain Name System (DNS) protocol is used to resolve domain names to IP addresses. Which of the following elements constitute a

complete domain name?
Question37 (20 Points)

A. Top-level domain name

20 Points
" B. Host name

Question39 (20 Points) %

Questiond0 (20 Points) C. Second-level domain name

Questiond1 (20 Points) D. Root domain name

Question42 (20 Points)

Previous
Question43 (20 Points) m

Question44 (20 Points)

@ Wrong answer My Score: 0 Point(s) Correct answer: ABCD

Questiond5 (20 Points)

Questiond6 (20 Points)

Question47 (20 Points)

Question48 (20 Points)

8 Wrong 58 & Unanswered 56
ﬂ L Type here to search
@ OGITECH: Ogun Szt X | [} Nairaland Forum X | &2 Cisco Skills For All X | G vcconnect-Google © X | ## Course Details-Huaw: X | #8 Course Details X X 4+ v = o X
€« C @ talentshixizhihuawei.com/iexam/1 427395223554 examContentZexam|d=159205050 7212&examResultid=164727 7138816&sxz-lang=en_US © % » 0 &
HCIA-Datacom V1.0 Mock Exam NoPass  Score: 30 Points  Answer Time: 00:02:53 Exit
Al Just look at ti - ’ ?
QUESTIONSE 2V Foints)
Question37 (20 Points) 39, The concept of Network Functions Virtualization (NFV) was proposed by a group of network service providers to solve problems such as too much

telecom network hardware, complex deployment and O&M, and difficult service innovation. Which of the following components are included in the
Question38 (20 Points) standard NFV architecture?

Question39 (20 Points

A. MANO
Question40 (20 Points) =

B. NFVI
Question41 (20 Points)

C. VNF
Question42 (20 Points)

D.0s

Question43 (20 Points)

Questiond4 (20 Points) i | m

Question45 (20 Points)

Questiond6 (20 Points)

@ Wrong answer My Score: 0 Poinl(s)  Correct answer: ABC

Question47 (20 Points)
Question48 (20 Points)

Question49 (20 Points) L
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QUESTION37 2V FoInts )
Question38 (20 Points) 40. Which of the following statements about static and dynamic routes are true?
Question39 (20 Points) A. When creating a static route, you must specify both the outbound interface and next hop.
(20 Pol B. Dynamic routing protocols can be classified into distance-vector routing protocols and link-state routing protocols based on their working mechanism and routing
algorithms.
Questiond41 (20 Points)
C. Static routes have low requirements on the system and are applicable to simple, stable, and small-sized networks.
Question42 (20 Points)
. . D. Dynamic routing protocols can automatically discover and generate routes and are more suitable for large-scale networks.
Question43 (20 Points)
Question44 (20 Points) .
Question45 (20 Points)
Questiond6 (20 Points)
@ Wrong answer My Score: 0 Point(s) Correct answer: BCD
Questiond7 (20 Points)
Question48 (20 Points)
Question49 (20 Points) -
Question50 (20 Points)
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QUESTion38 (2V Foints)
Question39 (20 Points) 41, PPP over Ethernet (PPPOE) is a link layer protocol that encapsulates PPP frames into Ethernet frames. Which of the following statements about
PPPOE are true?
Question40 (20 Points)
- " K A. PPPoE is often used by home users and enterprise users to dial up for Internet access.
Question41 (20 Pr
2 B. PPPoE client can terminate a PPPoE session in unicast mode.

Question42 (20 Points)

Questiond3 (20 Points) C. PPPoE session establishment involves three stages: PPPoE discovery, session, and termination.

Questiond4 (20 Points) D. PPPoE client broadcasts a request for the required service information.

Question45 (20 Points)

Questiond6 (20 Points)

Questiond7 (20 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: ABCD

Question48 (20 Points)

Question49 (20 Points) ]

Question50 (20 Points)
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Question3y™ (20 Points)

Questiond0 (20 Points) 42, Network Address Translation (NAT) translates the IP address in an IP packet header into another IP address. Which of the following methods can
implement NAT?
Question41 (20 Points)

A. NAT Server
ond2 (20 Pol

B. Static NAT/NAPT
Question43 (20 Points)

Questiond4 (20 Points) C. Dynamic NAT

Question45 (20 Points) D. Easy IP
Question46 (20 Points)

Question47 (20 Points)

Questiond8 (20 Points)

@ Wrong answer My Score: 0 Point(s) Correct answer: ABCD

Question49 (20 Points) -

Question50 (20 Points)

True of False Question 10
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QuUestiondU (2U Points)

Questiond1 (20 Points) 43, Which of the following are advantages of switch stacking and clustering?
Question42 (20 Points) A. Simplifies network structure.

M43 (20 Points

B. Improves network reliability.

Question44 (20 Points) “ C. Improves the performance of single switches.

Questionds; (20 Polnts) D. Simplifies network management.

Question46 (20 Points)

Question47 (20 Points)
Question48 (20 Points)
Question49 (20 Points) ] °Wrong answer My Score: 0 Point(s) Correct answer: ABD

Question50 (20 Points)

True of False Question 10

Question51 (15 Points)
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QuestiondT (2V Points)

Question42 (20 Points)

Questiond3 (20 Points)

ond4 (20 P

Question45 (20 Points)

Question46 (20 Points)

Question47 (20 Points)

Question48 (20 Points)

44, Which of the following statements are false about the forwarding behavior of access ports on a switch?

A. When an access port of the switch receives an untagged data frame, the port adds its default VLAN ID to the frame.
B. When an access port of the switch sends an untagged data frame, the port adds its default VLAN ID to the frame.
E C. When an access port of the switch receives a data frame carrying the same tag as the default VLAN ID of the port, the port discards the frame.

D. When an access port of the switch receives a data frame carrying the same tag as the default VLAN ID of the port, the port accepts the frame.

Question49 (20 Points) ]
Question50 (20 Points) @ Wrong answer My Score: 0 Point(s) Correct answer: BC
True of False Question 10
Question51 (15 Points)
Question52 (15 Points)
B Wrong 58 ® Unanswered 56
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QuestiondZ {20 Points)

Question43 (20 Points)

Question44 (20 Points)

(20 Points

Question46 (20 Points)

Questiond7 (20 Points)

Question48 (20 Points)

Question49 (20 Points)

Question50 (20 Points)

45, Which of the following are the advantages of a VLAN?
A. Limits broadcast domains.
B. Enhances LAN security.

« C. Improves network robustness.

D. Flexibly constructs virtual workgroups.

. i m

@ Wrong answer My Score: 0 Point(s) Correct answer: ABCD

True of False Question 10
Question51 (15 Points)
Question52 (15 Points)
Question53 (15 Points) -
® Wrong 58 ® Unanswered 56

ﬂ R Type here to search




@ OGITECH: Ogun Szt X | {&} Nairaland Forum X | & CiscoSkillsForAll X | G vcconnect-Google © X | #8 Course Details-Huaw: X | #8 Course Details x alent-Exan X o S22 = a X

<« c @ talent.shixizhihuawei.com/iexam/1365189427395223554/examContent?exam|d=1592050502

507212&examResultld=16472715352471388

usxz-lang=en_US w2 % » 0 &
HCIA-Datacom V1.0 Mock Exam NoPass  Score: 30 Points  Answer Time: 00:02:53 Exit

Al Just look at tf

Questiona3 ™ (20 Points)

Questiond4 (20 Points) 46. Which of the following are valid MAC address types?

Questiond5 (20 Points) A. Multicast MAC address
Question46 (20 Points B. Anycast MAC address
Question47 (20 Points) < C. Broadcast MAC address
Questiond8 (20 Points) D. Unicast MAC address

Question49 (20 Points) ]

Question50 (20 Points)

True of False Question 10

@ Wrong answer My Score: 0 Point(s)  Correct answer: ACD

Question51 (15 Points)

Question52 (15 Points)

Question53 (15 Points) [

Question54 (15 Points)
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Questiondd (20 Points)
Questiond (20 Points) 47, Which of the following statements about Layer 2 and Layer 3 loops are true?
Question46 (20 Points) A. The Layer 2 frame header does not contain any information that can prevent data frames from being forwarded endlessly.
Question47 (20 Points B. The TTL field in the IP packet header can prevent Layer 2 loops.
Question48 (20 Points) “ C. If redundant links are deployed on the network, Layer 2 loops may occur.
Questionsd (20 Points); ‘@ D. Layer 2 loop may occur if cables are incorrectly connected.
Question50 (20 Points)
True of False Question 10 . m
Question51 (15 Points)
Question52 (15 Points) °Wrong answer My Score: 0 Point(s) Correct answer: ACD

Question53 (15 Points) -
Question54 (15 Points)

Question55 (15 Points)
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Questiond5 (20 Points)

Questionds (20 Points) 48, In OSPF, which of the following network types require the election of a DR and BDR?

Question47 (20 Points) A.BMA

3 (20 Points B. NBMA
Question49 (20 Points) k) < C. P2MP
Question50 (20 Points) D.P2P

True of False Question 10

Question51 (15 Points)

Question52 (15 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: AB

Question53 (15 Points) o
Question54 (15 Points)
Question55 (15 Points)

Question56 (15 Points)

B Wrong 58 ® Unanswered 56
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Questionds (20 Points)

49, Interfaces GE1/0/1 and GE1/0/0 on both switches CE1 and CE2 shown in the figure have the following configurations: interface GE1/0/1 undo
shutdown port link-type access # interface GE1/0/0 undo shutdown port link-type trunk port trunk pvid vian 2 #

Question47 (20 Points)

Question48 (20 Points) Which of the following statements are true?

Question49 (20 Points. L ] -

Question50 (20 Points) < A. All devices connected to the same hub belong to the same collision domain.

True of False Question 10 B. Each port of a router connects to a broadcast domain.

Question51 (15 Points) C. The Ethernet uses CSMA/CD to avoid collisions in collision domains.

Question52 (15 Points) D. Each port of a switch connects to a collision domain. v

Question53 (15 Points) a

Question54 (15 Points) m
Question55 (15 Points)
Question56 (15 Points) @ Wrong answer My Score: 0 Point(s)  Correct answer: ABCD

Question57 (15 Points)
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Questiond7 (20 Points)

Questiond8 (20 Points) 50. Which of the following statements about Layer 2 hybrid ports are true?

Question49 (20 Points) L A. When a tagged frame needs to be sent from a Layer 2 hybrid port of a switch and the VID in the tag of the frame is in the tagged VLAN ID list, the port sends the
frame out on the link without removing the tag from the frame.

C (20 Points)

B. When a tagged frame needs to be sent from a Layer 2 hybrid port of a switch and the VID in the tag of the frame is in the untagged VLAN ID list, the port removes the
True of False Question 10 « tag from the frame and then sends the untagged frame out on the link.
Question51 (15 Points) C. After receiving a tagged frame on a link, a Layer 2 hybrid port checks whether the VID in the tag of the frame is in the tagged or untagged VLAN ID list. If not, the port

discards the frame.
Question52 (15 Points)

D. When receiving an untagged frame on a link, a Layer 2 hybrid port adds a tag with the VID as its PVID to the frame and then forwards the frame.
Question53 (15 Points) .

Question54 (15 Points)
Question55 (15 Points)

Questions6 (15 Points)

@ Wrong answer My Score: 0 Point(s)  Correct answer: ABC

Question57 (15 Points)

Question58 (15 Points)

B Wrong 58 ® Unanswered 56
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Questiond8 (20 Points)
Questiondd (20 Points)  m 51. Switches can implement communication between homogeneous networks or communication between heterogeneous networks and isolate
broadcast domains.
Question50 (20 Points)
True
True of False Question 10
False

Question51 (15 Points «

Question52 (15 Points) u
Previous

Question53 (15 Points) a

Question54 (15 Points)

‘Wrong answer My Score: 0 Point(s) Correct answer: False

Question55 (15 Points)
Question56 (15 Points)
Question57 (15 Points)
Question58 (15 Points)

Question59 (15 Points)
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Question49 (20 Points) -
52, The precision of telemetry-based traffic statistics collection can be measured in milliseconds.

Question50 (20 Points)
True
True of False Question 10

False

Question51 (15 Points)

(15 Points

Question53 (15 Points) .

Question54 (15 Points)

© Wrong answer My Score: 0 Point(s)  Correct answer: False

Question55 (15 Points)
Question56 (15 Points)
Question57 (15 Points)
Question58 (15 Points)
Question59 (15 Points)

Question60 (15 Points)
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Question49 (20 Points)
53, SNMP is a standards-based network management protocol widely used on TCP/IP networks. It provides a method for managing NEs through a

Question50 (20 Points) central computer that runs network management software, that is, a network management station (NMS). An SNMP NMS and SNMP agent
communicate with each other through the TCP protocol.
True of False Question 10

True
Question51 (15 Points)

-
o Vv
Question52 (15 Points) Felss

n53 (15 Points L]

Question54 (15 Points) m

Question55 (15 Points)

@ Congratula otit! My Score: 15 Point Correct answer: False
Question56 (15 Points)

Question57 (15 Points)
Question58 (15 Points)
Question59 (15 Points)

Questions0 (15 Points)
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Question49 (20 Points) -
54, Network design and planning is the first phase of campus network construction.

Question50 (20 Points)

True
True of False Question 10

False
Question51 (15 Points)

Question52 (15 Points) u

Question53 (15 Points) .

(15 Poll

© Wrong answer My Score: 0 Point(s)  Correct answer: True

Question55 (15 Points)
Question56 (15 Points)
Question57 (15 Points)
Question58 (15 Points)
Question59 (15 Points)

Question60 (15 Points)
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Question49 (20 Points)
55, Segment routing (SR) provides an innovative traffic steering method. It divides a network path into segments and allocates segment IDs (SIDs) to

Question50 (20 Points) these segments. The segments and nodes are sequentially arranged into a segment list to form a forwarding path.

True of False Question 10 True
Question51 (15 Points) False

Question52 (15 Points)

Question53 (15 Points) " Previous m

Question54 (15 Points)

Question55 (15 Points °Wvong answer My Score: 0 Point(s) Correct answer: True
Question56 (15 Points)

Question57 (15 Points)

Question58 (15 Points)

Question59 (15 Points)

Question60 (15 Points)
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Question49 (20 Points) -
56. A hybrid port on a switch can connect to either a user host or a port on another switch.

Question50 (20 Points)
True

True of False Question 10
False
Question51 (15 Points)

Question52 (15 Points) N u
Question53 (15 Points) .

Question54 (15 Points)

© Wrong answer My Score: 0 Point(s)  Correct answer: True

Question55 (15 Points)

Question57 (15 Points)

Question58 (15 Points)

Question59 (15 Points)

Question60 (15 Points)
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Question49 (20 Points)
57, Before sending an IPv6 packet, an interface performs the following operations in this order: address configuration, address resolution, and

Question50 (20 Points) duplicate address detection (DAD).
True of False Question 10 True
Question51 (15 Points) False
-
Question52 (15 Points)
Question53 (15 Points) . u
Question54 (15 Points)
Question55 (15 Points) © Wrong answer My Score: 0 Point(s) Correct answer: False

Question56 (15 Points)
Question57 (15 Points
Question58 (15 Points)
Question59 (15 Points)

Questions0 (15 Points)

® Wrong 58 B Unanswered 56
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Question49 (20 Points)

Question50 (20 Points)

True of False Question
Question51 (15 Points)
Question52 (15 Points)
Question53 (15 Points)
Question54 (15 Points)
Question55 (15 Points)
Question56 (15 Points)
Question57 (15 Points)
Question58 (15 Points
Question59 (15 Points)

Question60 (15 Points)

® Wrong 58

Just look at tf

-
58, Segment routing (SR) can be deployed with or without controllers.
True
10
False
«
o

Correct answer: True

© Wrong answer

My Score: 0 Point(s)
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Question49 (20 Points)

Question50 (20 Points)

True of False Question
Question51 (15 Points)
Question52 (15 Points)
Question53 (15 Points)
Question54 (15 Points)
Question55 (15 Points)
Question56 (15 Points)

Question57 (15 Points)

Question58 (15 Points)

Question60 (15 Points)

® Wrong 58
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59. Ablackhole route (or null route) can prevent routing loops.

True

False

© Wrong answer Correct answer: True

My Score: 0 Point(s)

® Unanswered 56
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Question49 (20 Points) -
60. When a static route is configured on a router, the specified next-hop address must be an address on the directly connected network.

Question50 (20 Points)

True
True of False Question 10

False
Question51 (15 Points)

Question52 (15 Points)

Question53 (15 Points) .

Question54 (15 Points)

© Wrong answer My Score: 0 Point(s)  Correct answer: False

Question55 (15 Points)

Question56 (15 Points)

Question57 (15 Points)

Question58 (15 Points)

Question59 (15 Points)
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